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TIME AND WORK

[ le; vkSj dk;Z ]

1. A can do a piece of work in 6 days and B in 9
days. How many days will both take together
to complete the work ?

A ,d dke dks 6 fnuksa esa rFkk B 9 fnuksa esa dj ldrk gSA
nksuksa feydj ml dke dks fdrus fnuksa esa iwjk djsaxs \
(a) 7.5 days (b) 5.4 days
(c) 3.6 days (d) 3 days

2. A can do a piece of work in 15 days and B in
20 days. If they together work on it for 4 days,
then the fraction of the work that is left is ?

A ,d dke dks 15 fnuksa esa rFkk B 20 fnuksa esa dj ldrk
gSA ;fn os 4 fnuksa rd ,d lkFk dke djrs gSa] rks vc dke
dk fdruk fgLlk cpk gqvk gS  \

(a) 
8

15
(b) 

7

15

(c) 
1

4
(d) 

1

10

3. A can cultivate 
2

5
th of a land in 6 days and

B can cultivate 
1

3
th of the same land in 10

days. Working together A and B can cultivate

4

5
 the of the land in ?

A ,d tehu dk 
2

5
 Hkkx 6 fnuksa esa vkSj B tehu dk 

1

3

Hkkx 10 fnuksa esa dkV ldrk gSA A vkSj B ,d lkFk dke

djds 
4

5
 Hkkx tehu dks fdrus fnuksa esa dkVsaxs ?

(a) 4 days (b) 5 days
(c) 8 days (d) 10 days

4. A can finish a piece of work in 18 days and
B can do the same work in half the time
taken by A. Then working together what part
of the same work they can finish in a day ?

A fdlh dke dks 18 fnuksa esa [kRe djrk gSA B mlh dke
dks A }kjk fy, x, le; ds vk/s le; esa [kRe dj ldrk
gSA ,d lkFk dke djds os nksuksa ,d fnu esa fdruk Hkkx dke
[kRe djsaxs ?

(a) 
1

6
(b) 

2

5

(c) 
1

9
(d) 

2

7

5. A, B and C can complete a piece of work in
24, 6 and 12 days respectively. Working
together, they will complete the same work
in ?

A, B rFkk C ,d dke dks Øe'k% 24, 6 rFkk 12 fnuksa esa
dj ldrs gSaA ,d lkFk dke djds os mlh dke dks fdrus
fnuksa esa [kRe djsaxs ?

(a) 
1

4
 days (b) 

7

24
 days

(c) 
3

3
7

 days (d) 4 days

6. A & B can do a piece of work in 12 days. B
and C in 15 days and C and A in 20 days. If
A, B and C work together, they will complete
the work in ?

A vkSj B fdlh dke dks 12 fnuksa esa dj ldrs gSaA B vkSj
C mlh dke dks 15 fnuksa esa dj ldrs gS rFkk C vkSj A mlh
dke dks 20 fnuksa esa dj ldrs gSaA ;fn A, B rFkk C ,d
lkFk dke djs] rks os fdrus fnuksa esa dke [kRe djsaxs ?

(a) 5 days (b) 
5

7
6

 days

(c) 10 days (d) 
2

15
3

 days

7. A and B can do a piece of work in 72 days. B
and C can do it in 120 days. A and C can do
it in 90 days. In how many days all three
together can do the work ?

A vkSj B ,d dke dks 72 fnuksa esa dj ldrs gSaA B vkSj C
mlh dke dks 120 fnuksa esa dj ldrs gSa rFkk C vkSj A mlh
dke dks 90 fnuksa esa dj ldrs gSaA rhuksa feydj bl dke
dks fdrus fnu esa djsaxs ?
(a) 80 days (b) 100 days
(c) 60 days (d) 150 days

8. A man, a woman and a boy can complete a
job in 3, 4 and 12 days. How many boys must
assist 1 man and 1 woman to complete the

job in 
1

4
 of a day ?
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1 iq:"k] 1 efgyk rFkk 1 cPpk fdlh dke dks Øe'k% 3,

4 rFkk 12 fnuksa esa dj ldrs gSaA dke dks 
1

4
 fnuksa esa [kRe

djus ds fy, 1 iq:"k rFkk 1 efgyk ds lkFk fdrus yM+ds
vfuok;Z :i ls yxk, tk,¡xsa ?
(a) 1 (b) 4
(c) 19 (d) 41

9. A and B can do a piece of work in 10 days, B
and C in 15 days and C and A in 20 days, C
alone can do the work in ?

A rFkk B ,d dke dke dks 10 fnuksa esa B vkSj C 15 fnuksa
esa C vkSj A 20 fnuksa esa ,d dke dj ldrs gSaA C vdsyk
fdrus fnuksa esa dke [kRe djsxk ?
(a) 60 days (b) 120 days
(c) 80 days (d) 30 days

10. A can do a piece of work in 4 hours; B and C
can do it in 3 hours. A and C can do it in 2
hours. How long will B alone take to do it ?

A ,d dke dks 4 ?kaVs esa dj ldrk gSA B vkSj C blh dke
dks 3 ?kaVs esa rFkk A vkSj C 2 ?kaVsa esa dj ldrs gSaA B vdsyk
bl dke dks fdrus fnuksa esa djsxk ?
(a) 10 hours (b) 12 hours
(c) 8 hours (d) 24 hour

11. A can complete a piece of work in 6 days
while B can complete the same work in 12
days. If they work together and complete it,
the portion of the work done by A is ?

A ,d dke dks 6 fnuksa esa [kRe djrk gS tcfd B mlh dke
dks 12 fnuksa esa djrk gSA ;fn nksuksa lkFk dke djds dke
[kRe djrs gSa rks A us fdruk dke fd;k ?

(a) 
1

3
(b) 

2

3

(c) 
1

4
(d) 

1

2

12. A and B together can do a piece of work in
10 days. A alone can do it in 30 days. The
time in which B alone can do it is ?

A vkSj B feydj ,d dke dks 10 fnuksa esa dj ldrs gSaA
A vdsyk ml dke dks 30 fnuksa esa dj ldrk gS] rks B

vdsys ml dke dks fdrus fnuksa esa djsxk ?
(a) 10 days (b) 12 days
(c) 15 days (d) 20 days

13. A and B can complete a piece of work in 15
days and 10 days respectively. The
contracted to complete the work for Rs.
30,000. The share of A in the contracted
money will be ?

A vkSj B fdlh dk;Z dks Øe'k% 15 fnuksa rFkk 10 fnuksa esa
[kRe dj ldrs gSaA mUgksaus 30,000 esa ,d dk;Z djus dk
Bsdk fy;k] rks dqy jkf'k esa ls A dk fgLlk fdruk gksxk ?

(a) Rs. 18,000 (b) Rs. 16,500
(c) Rs. 12,500 (d) Rs. 12,000

14. A can do 
1

2
 of a piece of work in 5 days, B

can do 
3

5
 of the same work in 9 days and C

can do 
2

3
 of that work in 8 days. In how many

days can three of them together do the work
?

A fdlh dk;Z dk 
1

2
 Hkkx 5 fnuksa esa dj ldrk gSA B mlh

dk;Z dk 
3

5
 Hkkx 9 fnuksa esa dj ldrk gSA C mlh dke dk

2

3
 Hkkx 8 fnuksa esa dj ldrk gSA rhuksa feydj ml dke dks

fdrus fnuksa esa iwjk djsaxs ?

(a) 3 days (b) 5 days (c) 4
1

2
 days

(d) 4 days
15. A man and a boy received Rs. 800 as wages

for 5 days for the work they did together. The
man's efficiency is twice of the boy. What are
the daily wages of the boy ?

,d iq:"k rFkk ,d yM+ds dks 5 fnuksa rd lkFk dke djus
ds fy, :i;s 800 feyrs gSaA iq:"k dh dk;Z {kerk yM+ds
dh dk;Z {kerk ls nksxquh gSA rks yM+dk izfrfnu fdrus :i;s
dekrk gS ?

(a) Rs. 
1

53
3

(b) Rs. 
1

56
3

(c) Rs. 
1

44
3

(d) Rs. 
1

40
3

16. A daily-wages labourer was engaged for a
certain number of days for Rs. 5,750; but
being absent on some of those days he was
paid only Rs. 5,000. What were his maximum
possible daily wages ?

,d etnwj dks :i;s 5,750 esa dqN fnuksa ds fy, dke ij
yxk;k x;kA ysfdu dqN fnu vuqifLFkr jgus ds dkj.k mls
dsoy :i;s 5,000 fn;k x;k] rks mldh vf/dre nSfud
etnwjh fdruh Fkh ?
(a) Rs. 125 (b) Rs. 250
(c) Rs. 375 (d) Rs. 500

17. A and B can do a piece of work in 12 days, B
and C in 8 days and C and A in 6 days. How
long would B take to do the same work
alone?
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A vkSj B ,d dke dks 12 fnuksa esa dj ldrs gSa] B vkSj C
mlh dke dks 8 fnuksa esa rFkk C vkSj A, 6 fnuksa esa dj ldrs
gSaA B vdsyk ml dke dks fdrus fnuksa esa djsxk ?
(a) 24 days (b) 32 days
(c) 40 days (d) 48 days

18. A does 
4

5
 of a piece of work in 20 days. He

then call in B and they finish the remaining
work in 3 days. How long B alone will take to
do whole work ?

A fdlh dke dk 
4

5
 Hkkx 20 fnuksa esa djrk gSA fiQj B dks

dke ij cqykrk gS vkSj os feydj 'ks"k dke 3 fnu esa [kRe
djrs gSa rks B vdsyk ml dke dks fdrus fnuksa esa djsxk ?

(a)  37
1

2
 days (b) 37 days

(c) 40 days (d) 23 days

19. A does 
7

10
 of a piece of work in 20 days. He

then calls in B and they finish the remaining
work in 3 days. How long B alone will take to
do whole work ?

A 
7

10
 Hkkx dke 15 fnuksa esa djrk gS mlds i'pkr~ 'ks"k dke

og B dh lgk;rk ls 4 fnuksa esa [kRe djrk gSA rks A rFkk
B ,d lkFk fdrus fnuksa esa dke [kRe djsaxs ?

(a)  10
1

3
 days (b) 12

2

3
 days

(c) 13
1

3
 days (d) 8

1

4
 days

20. A and B can do a piece of work in 30 days
while B and C can do the same work in 24
days and C and A in 20 days. They all work
together for 10 days. How long will A take to
finish the remaining work ?

A vkSj B ,d dke dks 30 fnuksa esa dj ldrs gSa tcfd B
vkSj C mlh dke dks 24 fnuksa esa] rFkk C vkSj A mlh dke
dks 20 fnuksa esa dj ldrs gSaA os 10 fnuksa rd ,d lkFk dke
djrs gSa] rks cpk gqvk dke A fdrus fnuksa esa djsxk ?
(a) 30 days (b) 24 days
(c) 18 days (d) 36 days

21. A and B undertook to do piece of work for
Rs. 4500. A alone could do it in 8 days and B
alone in 12 days. With the assistance of C
they finished the work in 4 days. Then C's
share of the money is ?

A rFkk B ,d dke dks 4500 :i;s esa djus dk Bsdk ysrs
gSaA A vdsyk dke dks 8 fnuksa rFkk B vdsyk dke dks 12

fnuksa esa dj ldrk gSA C dh lgk;rk ls os 4 fnuksa esa dke
[kRe djrs gSa rks dqy jkf'k esa C dk fgLlk Kkr djsa ?
(a) Rs. 2250 (b) Rs. 1500
(c) Rs. 750 (d) Rs. 375

22. A alone can complete a piece of work in 12
days. A and B together can complete it in 8
days. How long will B alone take to complete
the work ?

A vdsys fdlh dke dks 12 fnuksa esa dj ldrk gSA A vkSj
B feydj mlh dke dks 8 fnuksa esa dj ldrs gSa] rks B vdsys
ml dke dks fdrus fnuksa esa djsxk ?
(a) 24 days (b) 18 days
(c) 16 days (d) 20 days

23. A and B together can do a piece of work in 5
days and A alone can do it in 8 days. B alone
can do the same piece of work in ?

A vkSj B feydj fdlh dke dks 5 fnuksa esa dj ldrs gSa vkSj
A vdsys ml dke dks 8 fnuksa esa dj ldrk gS] rks B vdsys
ml dke dks fdrus fnuksa esa djsxk ?

(a) 11
1

3
 days (b) 12

3

5
 days

(c) 13
1

3
 days (d) 16

4

5
 days

24. If A and B together can complete a piece of
work in 15 days and B alone in 20 days, in
how many days can A alone complete the
work ?

;fn A vkSj B fdlh dks 15 fnuksa esa dj ldrs gSa rFkk B
vdsys bl dke dks 20 fnuksa esa dj ldrk gSA rks A vdsys
ml dke dks fdrus fnuksa esa djsxk ?
(a) 60 days (b) 45 days
(c) 40 days (d) 30 days

25. A can complete 
1

3
 of a work in 5 days and B,

2

5
 of the work in 10 days. In how many days

both A and B together can complete the work
?

A ,d dke dk 
1

3
 Hkkx 5 fnuksa esa vkSj B dke ds 

2

5
 Hkkx

dks 10 fnuksa esa dj ldrs gSaA rks A vkSj B nksuksa feydj dke
dks fdrus fnuksa esa [kRe djsaxs ?

(a) 10 days (b) 9
3

8
 days

(c) 8
4

5
 days (d) 7

1

4
 days

26. A alone can do a piece of work in 6 days and
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B alone in 8 days. A and B undertook to do
it for Rs. 3200. With the help of C they
completed the work in 3 days. How much is
to be paid to C ?

A fdlh dk;Z dks vdsys 6 fnuksa esa dj ldrk gS vkSj B
vdsys fdlh dk;Z dks 8 fnuksa esa dj ldrk gSA A vkSj B
:i;s 3200 esa dk;Z djus dh ftEesnkjh yh vkSj C dh enn
ls mUgksaus dk;Z dks 3 fnuksa esa [kRe dj fn;k] rks dqy jkf'k
esa ls C dk fdruk fgLlk gksxk ?
(a) Rs. 375 (b) Rs. 400
(c) Rs. 600 (d) Rs. 800

27. A man can do a piece of work in 5 days, but
with the help of his son, he can do it in 3
days. In what time can the son do it alone ?

,d O;fDr fdlh dk;Z dks 5 fnuksa esa dj ldrk gSA ysfdu
vius iq=k dh lgk;rk ls og dke dks 3 fnuksa esa dj nsrk gS]
rks iq=k vdsys bl dke dks fdrus fnuksa esa dj ldrk gS ?
(a) 7 days (b) 8 days
(c) 7½ days (d) 6½ days

28. A and B together can do a piece of work in 8
days, B and C together in 10 days, while C
and A together in 6 days, if they all work
together the work will be completed in ?

A vkSj B feydj fdlh dke dks 8 fnuksa esa djrs gS] B vkSj
C feydj mlh dke dks 10 fnuksa esa djrs gSa] tcfd C vkSj
A feydj 6 fnuksa esa dke [kRe djrs gSaA ;fn rhuksa ,d lkFk
dke djsa rks dke fdrus fnuksa esa lekIr gks tk;sxk ?

(a) 3
3

4
 days (b) 3

3

7
 days

(c) 5
5

47
 days (d) 4

4

9
 days

29. A and B together can complete a piece of
work in 8 days, B alone can complete that
work in 12 days. B alone worked for four
days. After that how long will A alone take
to complete the work ?

A vkSj B feydj fdlh dke dks 8 fnuksa esa lekIr dj ldrs
gSaA B vdsys dke dks 12 fnuksa esa dj ldrk gSA B vdsys
4 fnuksa rd dke djrk gS] mlds i'pkr~ A vdsys ml dke
dks fdrus fnuksa esa iwjk djsxk ?

(a) 15 days (b) 18 days
(c) 16 days (d) 20 days

30. A and B together can complete a piece of
work in 8 days and B and C together in 12
days. All of the three together can complete
the work in  6 days. A and C together
complete the work in ?

A vkSj B feydj fdlh dke dks 8 fnuksa esa rFkk B vkSj C
mlh dke dks 12 fnuksa esa [kRe dj ldrs gSaA ;fn rhuksa

feydj dke dks 6 fnuksa esa lekIr dj ldrs gSa] rks A vkSj
C ml dke dks fdrus fnuksa esa [kRe djsaxs ?
(a) 8 days (b) 10 days
(c) 12 days (d) 20 days

31. If A and B together can complete a piece of
work in 18 days, A and C together in 12 days
and B and C together in 9 days, then B alone
can do the work in ?

;fn A vkSj B feydj fdlh dke dks 18 fnuksa esa] A vkSj
C feydj 12 fnuksa esa rFkk B vkSj C feydj 9 fnuksa esa dj
ldrs gSa] rks B vdsyk ml dke dks fdrus fnuksa esa djsxk ?

(a) 18 days (b) 24 days
(c) 30 days (d) 40 days

32. A can complete 
2

3
 of a work in 8 days and B

can complete 
3

5
 of the work in 6 days. In how

many days can both A and B together
complete the work ?

A ,d dke ds 
2

3
 Hkkx dks 8 fnuksa esa rFkk B dke ds 

3

5

Hkkx dks 6 fnuksa esa lekIr dj ldrs gSa] rks A vkSj B nksuksa
feydj dke dks fdrus fnuksa esa lekIr djsaxs ?

(a) 3 days (b) 5
5

11
 days

(c) 3
3

4
 days (d) 2

7

8
 days

33. P can complete 
1

4
 of a work in 10 days, Q

can complete 40% of the same work in 145

days. R completes 
1

3
 of the work in 13 days

and S 
1

6
of the work in 7 days. Who will be

able to complete the work first ?

P fdlh dke dk 
1

4
 Hkkx 10 fnuksa esa lekIr dj ldrk gS]

Q mlh dke dk 40%, 145 fnu esa lekIr dj ldrk gSA

R dke dss 
1

3
 Hkkx dks 13 fnuksa esa rFkk S dke dk 

1

6
 Hkkx

7 fnuksa esa lekIr dj ldrk gS] rks dkSu lcls igys dke
[kRe djsxk ?

(a) P (b) Q
(c) R (d) S

34. A, B and C individually can do a piece of
work in 10 days, 12 days and 15 days
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respectively. If they start working together,
then the number of days required to finish
the work is ?

A, B rFkk C fdlh dke dks Øe'k% 10 fnu] 12 fnu rFkk
15 fnuksa esa dj ldrs gSaA ;fn rhuksa lkFk dke djsa rks dke
fdrus fnuksa esa lekIr gksxk ?
(a) 16 days (b) 8 days
(c) 4 days (d) 2 days

35. A and B together can do a piece of work in
12 days. While B alone can finish it in 30
days. A alone can finish the work in ?

A vkSj B feydj fdlh dke dks 12 fnuksa esa dj ldrs gSa]
tcfd B vdsys ml dke dks 30 fnuksa esa lekIr dj ldrk
gS] rks A vdsys dke dks fdrus fnuksa esa lekIr djsxk ?
(a) 20 days (b) 25 days
(c) 15 days (d) 18 days

36. A, B and C can complete a piece of work in
12, 24 and 36 days respectively. They will
together complete the same work in ?

A, B rFkk C fdlh dke dks Øe'k% 12, 24 rFkk 36 fnuksa
esa dj ldrs gSa] rks rhuksa feydj ml dke dks fdrus fnuksa
esa lekIr djsaxs ?

(a) 5
6

11
 days (b) 4 days

(c) 6
6

11
 days (d) 6 days

37. Two men undertook to do a job for Rs. 1400.
One of them can do it alone in 7 days, and
the other in 8 days. With the assistance of a
boy they together completed the work in 3
days. How much money will the boy get ?

nks O;fDr;ksa us :i;s 1400 esa ,d dke djus dk Bsdk fy;kA
muesa ls ,d bl dke dks 7 fnuksa esa dj ldrk gS] tcfd
nwljk bls 8 fnuksa esa dj ldrk gSA ,d yM+ds dh lgk;rk ls
mUgksaus 3 fnuksa esa dke [kRe dj fn;k] rks yM+ds dks fdrus
:i;s feysaxs ?
(a) Rs. 300 (b) Rs. 325
(c) Rs. 275 (d) Rs. 250

38. While working 7 hours a day, A alone can
complete a piece of work in 6 days and B
alone in 8 days. In what time would they
complete it together working 8 hours a day ?

A, 7 ?kaVs izfrfnu dke djds ,d dke dks 6 fnuksa esa lekIr
djrk gSA tcfd B brus gh ?kaVs izfrfnu dke djds mlh dke
dks 8 fnuksa esa lekIr djrk gSA rks nksuksa feydj 8 ?kaVs izfrfnu
dke djds dke dks fdrus le; esa [kRe djsaxs  ?
(a) 3 days (b) 4 days
(c) 2.5 days (d) 3.6 days

39. Working 5 hours a day, A can complete a

piece of work in 8 days and working 6 hours
a day, B can complete the same work in 10
days. Working 8 hours a day, they both can
complete the work in ?

A, 5 ?kaVs izfrfnu dke djds fdlh dke dks 8 fnuksa esa
lekIr dj ldrk gS tcfd B mlh dke dks 6 ?kaVs izfrfnu
dke djds 10 fnuksa esa lekIr dj ldrk gSA ;fn nksuksa
feydj 8 ?kaVs izfrfnu dke djrs gksa rks dke fdrus fnuksa esa
[kRe gksxk ?

(a) 3 days (b) 4 days
(c) 4.5 days (d) 5.4 days

40. A and B can do a piece of work in 10 days, B
and C can do it in 12 days. C and A in 15
days. In how many days will C finish it
alone ?

A vkSj B fdlh dke dks 10 fnuksa esa] B vkSj C 12 fnuksa esa
rFkk C vkSj A 15 fnuksa esa dj ldrs gSa] rks C vdsys dke
dks fdrus fnuksa esa [kRe djsxk ?

(a) 24 days (b) 30 days
(c) 40 days (d) 60 days

41. A man, a woman and a boy can complete a
piece of work in 20 days, 30 days and 60
days respectively. How many boys must
assist 2 men and 8 women so as to complete
the work in 2 days ?

1 iq:"k 1 L=kh rFkk 1 yM+dk fdlh dke dks Øe'k% 20, 30

rFkk 60 fnuksa esa lekIr dj ldrs gSa] rks nks fnuksa esa dke
[kRe djus ds fy, 2 iq:"k rFkk 8 fL=k;ksa ds lkFk fdrus
yM+dksa dh t:jr gksxh ?

(a) 8 (b) 12
(c) 4 (d) 6

42. If A and B together can complete a piece of
work in 12 days, B and C together in 15 days
and C and A together in 20 days, then B
alone can complete the work in ?

;fn A vkSj B fdlh dke dks 12 fnuksa esa] B vkSj C 15 fnuksa
esa rFkk C vkSj A 20 fnuksa esa djrs gSa] rks B vdsys mlh dke
dks fdrus fnuksa esa djsxk ?

(a) 30 days (b) 25 days
(c) 24 days (d) 20 days

43. One man and one woman together can
complete a piece of work in 8 days. A man
alone can complete the work in 10 days. In
how many days can one women alone
complete the work ?

1 iq:"k 1 efgyk feydj fdlh dke dks 8 fnuksa esa lekIr
dj ldrs gSaA ,d iq:"k dke dks vdsys 10 fnuksa esa lekIr
dj ldrk gS] rks ,d efgyk vdsyh dke dks fdrus fnuksa
esa lekIr djsxh ?



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 201 ]

THATHAGAT

IN
STITUTE

(a) 
140

9
 days (b) 30 days

(c) 40 days (d) 42 days
44. A and B can separately do a piece of work in

6 days and 12 days respectively. How long
will they together take to do the work ?

A rFkk B vyx&vyx fdlh dke dks Øe'k% 6 fnuksa rFkk
12 fnuksa esa dj ldrs gSa] rks nksuksa feydj dke dks fdrus
fnuksa esa lekIr djsaxs ?
(a) 9 days (b) 18 days
(c) 6 days (d) 4 days

45. A can do 
1

6
 of a work in 5 days and B can do

2

5
 of the work in 8 days. In how many days,

can both A and B together do the work ?

A fdlh dke dk 
1

6
 Hkkx 5 fnuksa esa dj ldrk gS] B fdlh

dke dk 
2

5
 Hkkx 8 fnuksa esa dj ldrk gS] rks A vkSj B

feydj fdrus fnuksa esa dke lekIr djsaxs ?
(a) 12 days (b) 13 days
(c) 15 days (d) 20 days

46. A can do a piece of work in 20 days and B in
40 days. If they work on it together for 5 days,
then the fraction of the work that is left is ?

A rFkk B fdlh dke dks Øe'k% 20 fnuksa rFkk 40 fnuksa esa
dj ldrs gSaA ;fn nksuksa feydj 5 fnuksa rd dke djrs gSa rks
fdruk dke cpk jg tk,xk ?

(a) 
5

8
(b) 

8

15

(c) 
7

15
(d) 

1

10

47. A can do a piece of work in 20 days and B
can do the same piece of work in 30 days.
Find in how many days both can do the
work ?

A fdlh dke dks 20 fnuksa esa rFkk B mlh dke dks 30 fnuksa
esa dj ldrk gS] rks nksuksa feydj dke dks fdrus fnuksa esa
lekIr djsaxs ?
(a) 16 days (b) 14 days
(c) 10 days (d) 12 days

48. A and B together can dig a trench in 12 days,
which A alone can dig in 28 days, B alone
can dig it in ?

A rFkk B feydj 12 fnuksa esa ,d xM~<+k [kksn ldrs gSaA A
vdsys 28 fnuksa esa xM~<+k [kksn ldrk gS] rks B vdsys fdrus

fnuksa esa xM~<+k [kksnsxk ?
(a) 20 days (b) 21 days
(c) 22 days (d) 23 days

49. A sum of money is sufficient to pay A's wages
for 21 days and B's wages for 28 days. The
same money is sufficient to pay the wages of
both for ?

dqy jkf'k esa ls A dks 21 fnu dh etnwjh rFkk B dks 28

fnu dh etnwjh nh tk ldrh gS] rks nksuksa dks mlh jkf'k ls
fdrus fnuksa dh etnwjh nh tk ldrh gS ?
(a) 12¼ days (b) 14 days
(c) 24½ days (d) 12 days

50. A, B and C together earn Rs. 150 per day
while A and C together earn Rs. 94 and B
and C together earn Rs. 76. The daily earning
of 'C' is ?

A, B rFkk C feydj izfrfnu 150 :i;s dekrs gSa tcfd
A vkSj C feydj izfrfnu 94 :i;s rFkk B vkSj C feydj
izfrfnu 76 :i;s dekrs gSa] rks C izfrfnu fdrus :i;s
dekrk gS ?
(a) Rs. 56 (b) Rs. 20
(c) Rs. 34 (d) Rs. 75

51. A work can be completed by P and Q in 12
days. Q and R in 15 days. R and P in 20
days. In how many days P alone can finish
the work ?

P vkSj Q feydj fdlh dke dks 12 fnuksa esa lekIr djrs
gSa] Q vkSj R 15 fnuksa esa rFkk R vkSj P 20 fnuksa esa dke
lekIr dj ldrs gSa] rks P vdsys fdrus fnuksa esa dke lekIr
djsxk ?

(a) 10 days (b) 20 days
(c) 30 days (d) 60 days

52. A and B can complete a piece of work in 8
days, B and C can do it in 12 days, C and A
can do it in 8 days. A, B and C together can
complete it in ?

A vkSj B fdlh dke dks 8 fnuksa esa dj ldrs gSa] B vkSj C
fdlh dke dks 12 fnuksa esa rFkk C vkSj A dke dks 8 fnuksa
esa dj ldrs gSa] rks A, B, C feydj dke dks fdrus fnuksa
esa iwjk djsaxs ?
(a) 4 days (b) 5 days
(c) 6 days (d) 7 days

53. A and B together can do a piece of work in
10 days, B and C together can do the same
work in 6 days, A and C together can do the
work in 12 days. Then A, B and C together
can do the work in ?

A vkSj B feydj fdlh dke dks 10 fnuksa esa dj ldrs gSaA
B vkSj C mlh dke dks 6 fnuksa esa dj ldrs gS] vkSj A vkSj
C dke dks 12 fnuksa esa dj ldrs gSa] rks A, B rFkk C
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feydj ml dke dks fdrus fnuksa esa djsaxs  ?
(a) 28 days (b) 14 days

(c) 5
5

7
 days (d) 8

2

7
 days

54. A and B working together can do a piece of

work in 4
1

2
 hours. B and C working together

can do it in 3 hours. C and A working

together can do it in 2
1

4
 hours. All of them

begin the work at the same time. Find how
much time they will take to finish the piece
of work ?

A rFkk B feydj fdlh dke dks 4
1

2
 ?kaVs esa dj ldrs gSA

B vkSj C feydj mlh dke dks 3 ?kaVs esa dj ldrs gSa vkSj

C rFkk A mlh dke dks 2
1

4
 ?kaVs esa dj ldrs gSaA rhuksa ,d

lkFk dke djuk 'kq: djrs gSa] rks dke fdrus le; esa [kRe
gks tk;sxk ?
(a) 3 hours (b) 2 hours
(c) 2.5 hours (d) 3.25 hours

55. A and B can do a piece of work in 8 days, B
and C can do it in 24 days, while C and A

can do it in 8
4

7
 days, in how many days can

C do it alone ?

A vkSj B fdlh dke dks 8 fnuksa esa dj ldrs gSa] B vkSj C
mlh dke dks 24 fnuksa esa dj ldrs gSa tcfd C vkSj A mlh

dke dks 8
4

7
 fnuksa esa dj ldrs gSa] rks C vdsys dke dks

fdrus fnuksa esa iwjk djsxk ?
(a) 60 days (b) 40 days
(c) 30 days (d) 10 days

56. A and B can do a piece of work in 10 days, B
and C can do it in 12 days, A and C can do it
in 15 days. How long will A take to do it
alone ?

A rFkk B fdlh dke dks 10 fnuksa esa dj ldrs gSa] B vkSj
C ml dke dks 12 fnuksa esa dj ldrs gSa vkSj A rFkk C dke
dks 15 fnuksa esa dj ldrs gSa rks A vdsys dke dks fdrus fnuksa
esa djsxk ?
(a) 24 days (b) 20 days
(c) 40 days (d) 30 days

57. If A and B together can finish a piece of work
in 20 days. B and C in 10 days and C and A
in 12 days, then A, B, C jointly can finish
the same work in ?

A vkSj B feydj fdlh dke dks 20 fnuksa esa [kRe djrs gSa]
B vkSj C mlh dke dks 10 fnuksa esa rFkk C vkSj A mlh dke
dks 12 fnuksa esa [kRe djrs gSa rks A, B, C feydj dke dks
fdrus fnuksa esa lekIr djsaxs ?

(a) 4
2

7
 days (b) 30 days

(c) 8
4

7
 days (d) 

7

60
 days

58. A and B can do a piece of work in 72 days, B
and C can do it in 120 days, and A and C
can do it in 120 days. When A, B and C work
together, how much work is finished by them
in 3 days ?

A vkSj B fdlh dke dks 72 fnuksa esa] B vkSj C 120 fnuksa
esa rFkk A vkSj C 90 fnuksa esa dj ldrs gSaA ;fn A, B rFkk
C rhuksa ,d lkFk dke djrs gSa rks 3 fnuksa esa dke dk fdruk
Hkkx [kRe gks tk,xk ?

(a) 
1

40
(b) 

1

30

(c) 
1

20
(d) 

1

10

59. A skilled, a half skilled and an unskillled
labourer work for 7, 8 and 10 days
respectively and they together get Rs. 369
for their work. If the ratio of their each day's

work is 
1 1 1

: :
3 4 6

, then how much does the

trained labourer get (in rupees) ?

,d dq'ky] ,d v/Zdq'ky rFkk ,d vdq'ky etnwj Øe'k%
7, 8 rFkk 10 fnuksa rd dke djrs gSa vkSj mUgsa muds dke
ds fy, :i;s 369 feyrs gSaA ;fn muds izfrfnu dke dk

vuqikr 
1 1 1

: :
3 4 6

, gS] rks dq'ky etnwj dks fdrus :i;s

izkIr gksaxs ?

(a) :i;s 164 (b) :i;s 102.50

(c) :i;s 201.50 (d) :i;s 143.50

60. A can complete a piece of work in 'm' days
and B can complete it in 'n' days. How many
days will it take to complete the work if both
A and B work together ?

A fdlh dke dks m fnuksa esa rFkk B mlh dke dks n fnuksa
esa lekIr dj ldrk gS] ;fn nksuksa feydj dke djrs gSa rks
dke fdrus fnuksa esa lekIr gksxk ?

(a) (m + n) days (b) 
1 1

m n

 
  
 

 days

(c) 
m n

mn

 
  
 

 days (d) 
mn

m n

 
  

 
 days
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61. A can do a piece of work in 4 days and B can
it in 12 days. In how many days will they
finish the work, both working together ?

A fdlh dke dks 4 fnuksa esa rFkk B mlh dke dks 12 fnuksa

esa iwjk dj ldrk gS] rks nksuksa feydj fdrus fnuksa esa dke

iwjk djsaxs ?
(a) 4 days (b) 6 days
(c) 2 days (d) 3 days

62. A can do 
1

4
 of a work in 10 days. B can do 

1

3

of the work in 20 days. In how many days
can both A and B together do the work ?

A fdlh dke dk 
1

4
 Hkkx 10 fnuksa esa iwjk dj ldrk gSA B

dke dk 
1

3
 Hkkx 20 fnuksa esa iwjk dj ldrk gS] rks A rFkk

B feydj fdrus fnuksa esa dke iwjk djsaxs ?
(a) 30 days (b) 32 days
(c) 24 days (d) 25 days

63. Raj and Ram working together do a piece of
work in 10 days. Raj alone can do it in 12
days. Ram alone will do the work in ?

jkt rFkk jke feydj dke djrs gq, 10 fnuksa esa dke iwjk

dj ldrs gSA jkt vdsys 12 fnuksa esa dke iwjk dj ldrk

gS] rks jke vdsys fdrus fnuksa esa dke iwjk djsxk ?

(a) 20 days (b) 40 days
(c) 50 days (d) 60 days

64. A, B and C are employed to do a piece of work
for Rs. 575. A and C are supposed to finish

19

23
 of the work together. Amount shall be

paid to B is ?

A, B rFkk C dks fdlh dk;Z dks :i;s 575 esa djus ds fy,

dke ij  j[kk tkrk gSA A vkSj C feydj 
19

23
 dke iwjk

djrs gSaA rks B dks fdruh jkf'k iznku dh xbZ ?
(a) Rs. 210 (b) Rs. 100
(c) Rs. 200 (d) Rs. 475

65. A and B can do a piece of work in 36 days, B
and C can do it in 60 days. A and C can do it
in 45 days. C alone can do it in ?

A vkSj B fdlh dke dks 36 fnuksa esa dj ldrs gSaA B vkSj

C mlh dke dks 60 fnuksa esa rFkk A vkSj C mlh dke dks

45 fnuksa esa dj ldrs gSa] rks C vdsys dke dks fdrus fnuksa

esa iwjk djsxk ?

(a) 90 days (b) 180 days
(c) 120 days (d) 150 days

66. A and B together can complete a piece of
work in 12 days. A alone can complete in 20
days. If B does the work only half a day daily,
then in how many days A and B together
will complete the work ?

A vkSj B feydj fdlh dke dks 12 fnuksa esa dj ldrs gSaA
A vdsyk dke dks 20 fnuksa esa lekIr dj ldrk gSA ;fn B
izfrfnu vk/k fnu dke djrk gS rks A rFkk B feydj fdrus
fnuksa esa dke iwjk djsaxs ?

(a) 10 days (b) 20 days
(c) 11 days (d) 15 days

67. A can do a piece of work in 20 days which B
can do in 12 days.  B worked at it for 9 days.
A can finish the remaining work in ?

A fdlh dke dks 20 fnuksa esa dj ldrk gS] tcfd B mlh
dke dks 12 fnuksa esa dj ldrk gSA B 9 fnuksa rd dke djrk
gS] rks cpk gqvk dke A fdrus fnuksa esa lekIr djsxk ?
(a) 5 days (b) 7 days
(c) 11 days (d) 3 days

68. Two men undertake a job for Rs. 960. They
can complete it in 16 days and 24 days
respectively. They work along with a third
man and take 8 days to complete it. Then
the share of the third man should be ?

nks O;fDr;ksa us :i;s 9600 esa ,d dke djus dk Bsdk fy;kA
nksuksa O;fDr ml dke dks Øe'k% 16 fnuksa rFkk 24 fnuksa
lekIr dj ldrs gSaA os rhljs O;fDr ds lkFk dke djds 8
fnuksa esa dke [kRe djrs gSa] rks dqy etnwjh esa ls rhljs O;fDr
dk fgLlk Kkr djsa ?

(a) Rs. 155 (b) Rs. 165
(c) Rs. 160 (d) Rs. 150

69. If there is a reduction in the number of
workers in a factory in the ratio 15 : 11 and
an increment in their wages in the rate 22 :
25, then the ratio by which the total wages
of the workers should be decreased is ?

;fn fdlh iQSDVªh esa etnwjksa dh la[;k esa 15 : 11 ds vuqikr
esa deh gksrh gS rFkk etnwjksa dh etnwjh esa 22 : 25 ds
vuqikr esa o`f¼ gksrh gS] rks etnwjksa dh dqy etnwjh esa fdl
vuqikr esa deh vk,xh ?

(a) 6 : 5 (b) 5 : 6
(c) 3 : 7 (d) 3 : 5

70. Stanic and Paul take a piece of work for Rs.
28,800. One alone could do it in 36 days,
the other in 48 days. With the assistance of
an expert, they finish it in 12 days. How
much remineration the expert should get ?

LVsfud rFkk ikWy :i;s 28,800 esa ,d dke dk Bsdk ysrs
gSaA LVsfud vdsys dke dks 36 fnuksa esa rFkk ikWy vdsys dke
dks 48 fnuksa esa dj ldrk gSA ,d vuqHkoh O;fDr dh
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lgk;rk ls dke 12 fnuksa esa iwjk dj fy;k tkrk gS] rks
vuqHkoh O;fDr dks fdrus feysaxs ?

(a) Rs. 10,000 (b) Rs. 18,000
(c) Rs. 16,000 (d) Rs. 12,000

71. A can do a piece of work in 25 days and B
can do the same work in 30 days. They work
together for 5 days, how much of work left ?

A fdlh dke dks 25 fnuksa esa rFkk B mlh dke dks 30 fnuksa
esa dj ldrk gSA nksuksa 5 fnuksa rd lkFk dke djrs gSa] rks vc
fdruk dke 'ks"k jg x;k gS ?

(a) 
15

30
(b) 

11

30

(c) 
12

30
(d) 

19

30

72. If x can finish a job in 4 hours and y can
finish the same job in 8 hours
independently, then they together will finish
the job in ?

;fn vyx&vyx fdlh dke dks djus esa x dks 4 ?kaVs yxrs
gSa vkSj mlh dke dks iwjk djus esa y dks 8 ?kaVs yxrs gSa] rks
nksuksa feykdj ml dke dks fdrus le; esa iwjk djsaxs \
(a) 140 minutes (b) 120 minutes
(c) 160 minutes (d) 150 minutes

73. X does 
1

4
 of a job in 6 days, y completes rest

of the job in 12 days. Then x and y could
complete the job together in ?

X ,d pkSFkkbZ dke 6 fnu esa djrk gSA y 'ks"k dke dks 12

fnu esa iwjk djrk gSA x vkSj y feydj dke dks fdrus le;
esa iwjk djsaxs ?

(a) 9 days (b) 8
1

8
 days

(c) 9
3

5
 days (d) 7

1

3
 days

74. A, B and C can complete a piece of work in
24, 5 and 12 days respectively working
together, they will complete the same work
in ?

A, B vkSj C ,d dk;Z dks Øe'k% 24, 5 vkSj 12 fnu esa
dj ldrs gSA os ,d lkFk feydj bl dk;Z dks fdrus fnuksa
esa iwjk djsaxs ?

(a) 3
1

13
 days (b) 4 days

(c) 
1

24
 days (d) 

7

24
 days

75. Janardan completes 
2

3
 of his work in 10

days. Time he will take to complete 
3

5
 of the

same work, is ?

tuknZu fdlh dk;Z dk 
2

3
 Hkkx 10 fnuksa esa iwjk djrk gSA mlh

dke ds 
3

5
 Hkkx dks fdrus le; esa iwjk djsxk ?

(a) 4 days (b) 8 days
(c) 6 days (d) 9 days

76. A and B were assigned to do a job for an
amount of Rs. 1,200. A alone can do it in 15
days, while B can do it in 12 days. With the
help of C, they can finish in 5 days. The
share of amount that C earns is ?

A rFkk B dks :i;s 1,200 esa ,d dke dh ftEesnkjh nh
tkrh gSA A vdsys dke dks 15 fnuksa esa iwjk dj ldrk gS
tcfd B dke dks 12 fnuksa esa dj ldrk gSA C dh lgk;rk
ls os dke dks 8 fnuksa esa lekIr djrs gSa] rks dqy etnwjh esa
ls C dk fgLlk Kkr djsa ?

(a) Rs. 300 (b) Rs. 400
(c) Rs. 500 (d) Rs. 600

77. A can do a piece of work in 12 days while B
alone can do it in 15 days. With the help of
C they can finish it in 5 days. If they are
paid Rs. 960 for the whole work. How much
money A gets ?

A fdlh dke dks 12 fnuksa esa dj ldrk gS tcfd B mls 15

fnuksa esa dj ldrk gSA C dh lgk;rk ls rhuksa feydj dke
dks 5 fnuksa esa lekIr djrs gSaA iwjs dke ds fy, mUgsa :i;s
960 feyrs gSa] rks A dks fdrus :i;s izkIr gksaxs ?

(a) Rs. 480 (b) Rs. 240
(c) Rs. 320 (d) Rs. 400

78. Three persons undertake to complete a piece
of work for Rs. 1200. The first person can
complete the work in 8 days, second person
in 12 days and third person in 16 days. They
complete the work with the help of a fourth
person in 3 days. What does the fourth
person get ?

rhu O;fDr :i;s 1200 esa ,d dke djus dk Bsdk ysrs gSaA
igyk O;fDr 8 fnuksa esa dke iwjk dj ldrk gS] nwljk O;fDr
12 fnuksa esa rFkk rhljk O;fDr 16 fnuksa esa dke iwjk dj
ldrk gSA pkSFks O;fDr dh lgk;rk ls os 3 fnuksa esa dke
lekIr dj nsrs gSa rks pkSFks O;fDr dks fdrus :i;s izkIr
gksaxs ?

(a) Rs. 180 (b) Rs. 200
(c) Rs. 225 (d) Rs. 250

79. A can do a piece of work in 16 days and B in
24 days. They take the help of C and they all
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together finish the work in 6 days. If the total
remineration for the work is Rs. 400. The
amount (in rupees) each will receive, in
proportion, to do the work is ?

A fdlh dk;Z dks 16 fnuksa esa tcfd B mlh dke dks 24

fnuksa esa lekIr djrk gSA C dh lgk;rk ls rhuksa feydj dke
dks 6 fnuksa esa lekIr djrs gSaA ;fn dke ds fy, :i;s 400

dqy etnwjh feyrh gS] rks izR;sd dks fdrus :i;s izkIr
gksaxs ?
(a) A : 150, B : 100, C : 150
(b) A : 100, B : 150, C : 150
(c) A : 150, B : 150, C : 100
(d) A : 100, B : 150, C : 100

80. A and B can do a piece of work in 12 days, B
and C in 15 days, C and A in 20 days. A
alone can do the work in ?

A rFkk B fdlh dke dks 12 fnuksa esa] B vkSj C mlh dke
dks 15 fnuksa esa rFkk C vkSj A mlh dke dks 20 fnuksa esa iwjk
dj ldrs gSa] rks A vdsys fdrus fnuksa esa dke iwjk djsxk ?

(a) 15
2

3
 days (b) 30 days

(c) 24 days (d) 40 days
81. A and B together can do a piece of work in 6

days. If A can alone do the work in 18 days,
then the number of days required for B to
finish the work is ?

A vkSj B feydj fdlh dke dks 6 fnuksa esa dj ldrs gSaA
;fn A vdsys dke dks 18 fnuksa esa dj ldrk gS] B vdsys
dke dks fdrus fnuksa esa lekIr djsxk ?
(a) 12 days (b) 9 days
(c) 15 days (d) 10 days

82. A and B can do a given piece of work in 8
days, B and C can do the same work in 12
days and A, B and C complete it in 6 days.
Number of days required to finish the work
by A and C is ?

A vkSj B fn, x, fdlh dke dks 8 fnu esa dj ldrs gSa] B
vkSj C mlh dke dks 12 fnu esa dj ldrs gSa vkSj A, B,

C mls 6 fnu esa iwjk dj ldrs gSaA A vkSj C }kjk ml dke
dks iwjk djus esa fdrus fnu yxsaxs ?

(a) 24 days (b) 8 days
(c) 16 days (d) 12 days

83. A and B can do a piece of work in 15 days. B
and C can do the same work in 10 days and
A and C can do the same in 12 days. Time
taken by A, B and C together to do the job is?

A vkSj B ,d dk;Z dks 15 fnuksa esa dj ldrs gSaA B vkSj C
mlh dk;Z dks 10 fnuksa esa vkSj A vkSj C mlh dk;Z dks 12

fnuksa esa dj ldrs gSaA ml dk;Z dks A, B vkSj C feydj
fdrus le; esa djsaxs ?

(a) 8 days (b) 4 days
(c) 9 days (d) 5 days

84. In two days A, B and C together can finish
1

2
 of a work and in another 2 days B and C

together can finish 
3

10
 part of the work. Then

A alone can complete the whole work in ?

2 fnuksa esa A, B vkSj C feydj 
1

2
 dke iwjk dj ldrs gSa

vkSj vxys 2 fnuksa esa B vkSj C feydj 
3

10
 dk;Z iwjk dj

ldrs gSaA rc A vdsyk leLr dke dks fdrus fnu esa iwjk
dj ldrk gS \
(a) 15 days (b) 10 days
(c) 12 days (d) 14 days

85. A can do a piece of work in 8 days which B
can destroy in 3 days. A has worked for 6
days, during the last 2 days of which B has
been destoying. How many days must A now
work alone to complete the work ?

A fdlh dke dks 8 fnuksa esa dj ldrk gS vkSj B ml dke
dks 3 fnuksa esa u"V dj ldrk gSA A, 6 fnuksa rd dke djrk
gS vkSj B vafre nks fnuksa ls dke dks u"V dj jgk gS] rks vc
dke [kRe djus ds fy, A dks fdrus fnu dke djuk gksxk \

(a) 7 days (b) 7
1

3
 days

(c) 7
2

3
 days (d) 8 days

86. A and B together can complete a piece of
work in 72 days, B and C together can
complete it in 120 days, and A and C together
in 90 days. In what time can A along
complete the work ?

A vkSj B feydj fdlh dke dks 72 fnuksa esa dj ldrs gSa]
B vkSj C feydj mlh dke dks 120 fnuksa esa dj ldrs gSa
rFkk A vkSj C mlh dke dks 90 fnuksa esa dj ldrs gSaA fdrus
le; esa A vdsyk ml dke dks iwjk djsxk \
(a) 80 days (b) 100 days
(c) 120 days (d) 150 days

87. A and B can complete a piece of work in 30
days, B and C in 20 days, while C and A in
15 days. If all of them work together, the time
taken in completing the work will be ?

A vkSj B fdlh dke dks 30 fnuksa esa djrs gSaA B vkSj C mlh
dke dks 20 fnuksa esa djrs gSa rFkk C vkSj A, 15 fnuksa esa dke
[kRe djrs gSaA ;fn rhuksa ,d lkFk dke djuk 'kq: djrs gSa]
rks dke fdrus fnuksa esa lekIr gksxk ?
(a) 10 days (b) 12 days

(c) 12
2

3
 days (d) 13

1

3
 days



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 206 ]

THATHAGAT

IN
STITUTE

88. Working efficiency of P and Q for completing
a piece of work are in the ratio 3 : 4. The
number of days to be taken by them to
complete the work will be in the ratio ?

,d dk;Z dks lekIr djus ds fy;s P rFkk Q dh dk;Z{kerk
dk vuqikr 3 : 4 gS] rks dke dks [kRe djus ds fy, nksuksa
ds }kjk fy;s x, fnuksa dk vuqikr D;k gksxk \
(a) 3 : 2 (b) 2 : 3
(c) 3 : 4 (d) 4 : 3

89. If 6 men and 8 boys can do a piece of work in
10 days and 26 men and 48 boys can do the
same in 2 days, then the time taken by 15
men and 20 boys to do the same type of work
will be ?

;fn 6 iq:"k vkSj 8 yM+ds ,d dke dks 10 fnuksa esa [kRe
djrs gSa vkSj 26 iq:"k vkSj 48 yM+ds mlh dke dks 2 fnuksa
esa dj ldrs gSaA rks 15 iq:"k o 20 yM+ds mlh dke dks
fdrus fnuksa esa djsaxs \
(a) 5 days (b) 4 day
(c) 6 day (d) 7 days

90. 5 men can do a piece of work in 6 days while
10 women can do it in 5 days. In how many
days can 5 women and 3 men do it ?

5 iq:"k ,d dke dks 6 fnuksa esa dj ldrs gSa] tcfd 10

efgyk,¡ mlh dke dks 5 fnuksa esa dj ldrh gSaA 5 efgyk,¡
vkSj 3 iq:"k mlh dke dks fdrus fnuksa esa iwjk djsaxs \
(a) 4 days (b) 5 days
(c) 6 days (d) 8 days

91. If 10 men or 20 boys can make 260 mats in
20 days, then how many mats will be made
by 8 men and 4 boys in 20 days ?

;fn 10 iq:"k ;k 20 yM+ds 20 fnuksa esa 260 pVkb;k¡ cuk
ldrs gSaA 8 iq:"k rFkk 4 yM+ds 20 fnuksa esa fdruh pVkb;k¡
cuk,¡xs ?
(a) 260 (b) 240
(c) 280 (d) 520

92. If 3 men or 6 women can do a piece of work
in 16 days, in how many days can 12 men
and 8 women do the same piece of work ?

;fn 3 iq:"k ;k 6 efgyk,¡ ,d dke dks 16 fnuksa esa dj
ldrs gSa] rks 12 iq:"k rFkk 8 efgyk,¡ mlh dke dks fdrus
fnuksa esa djsaxs \
(a) 4 days (b) 5 days
(c) 3 days (d) 2 days

93. If 16 men or 20 women can do a piece of work
in 25 days. In what time will 28 men and 15
women do it ?

;fn 16 iq:"k ;k 20 efgyk,¡ ,d dke dks 25 fnuksa esa dj
ldrs gSa] rks 28 iq:"k vkSj 15 efgyk,¡ mlh dke dks fdrus
fnuksa esa djsaxh \

(a) 14
2

7
 days (b) 33

1

3
 days

(c) 18
3

4
 days (d) 10 days

94. If 5 men or 8 women can do a piece of work
in 12 days, how many days will be taken by
2 men and 4 women to do the same work  ?

;fn 5 iq:"k ;k 8 efgyk,¡ ,d dke dks 12 fnuksa esa dj
ldrs gSa] rks 2 iq:"k rFkk 4 efgyk,¡ mlh dke dks fdrus
fnuksa esa dj ldrs gSa \

(a) 15 days (b) 13
1

2
 days

(c) 13
1

3
 days (d) 10 days

95. If 3 men or 4 women can plough a field in 43
days, how long will 7 men and 5 women take
to plough it ?

;fn 3 iq:"k ;k 4 fL=k;k¡ ,d [ksr dks 43 fnuksa esa tksr ldrs
gSa rks 7 iq:"k rFkk 5 fL=k;k¡ mlh [ksr dks fdrus fnuksa esa tksrsaxh
\
(a) 10 days (b) 11 days
(c) 9 days (d) 12 days

96. A wall of 100 metres can be built by 7 men
or 10 women in 10 days. How many days will
14 men and 20 women take to build a wall of
600 metres ?

100 ehVj yEch nhokj dks 7 iq:"k ;k 10 fL=k;k¡ 10 fnuksa
esa cuk ldrs gSaA 14 iq:"k rFkk 20 fL=k;k¡ 600 ehVj yEch
nhokj fdrus fnuksa esa cuk,¡xs \
(a) 15 (b) 20
(c) 25 (d) 30

97. 6 men or 12 women can do a piece of work in
20 days. In how many days can 8 men and
16 women do twice as big as this work ?

6 iq:"k ;k 12 fL=k;k¡ ,d dke dks 20 fnuksa esa dj ldrs
gSa] rks 8 iq:"k vkSj 16 fL=k;k¡ nksxqus dke dks fdrus fnuksa esa
[kRe djsaxs \
(a) 2 days (b) 5 days
(c) 15 days (d) 10 days

98. 2 men and 1 women together can complete
a piece of work in 14 days, while 4 women
and 2 men together can do it in 8 days. If a
man gets Rs. 600 per day, how much should
a woman get per day ?

2 iq:"k rFkk 1 efgyk fdlh dke dks 14 fnuksa esa [kRe djrh
gSa] tcfd 4 efgyk,¡ rFkk 2 iq:"k mlh dke dks 8 fnuksa esa
dj ldrs gSaA ;fn ,d iq:"k dks izfrfnu :i;s 600 feyrs
gS] rks ,d L=kh dks izfrfnu fdrus :i;s feysaxs \
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(a) Rs. 400 (b) Rs. 450
(c) Rs. 480 (d) Rs. 360

99. Jyoti can do 
3

4
 of a job in 12 days. Mala is

twice as efficient as Jyoti. In how many days
will Mala finish the job ?

T;ksfr fdlh dke dk 
3

4
 Hkkx 12 fnuksa esa lekIr dj ldrh

gSA ekyk dh dk;Z{kerk T;ksfr ls nksxquh gSA rks ekyk ml dke
dks fdrus fnuksa esa lekIr djsxh \
(a) 6 days (b) 8 days
(c) 12 days (d) 16 days

100. A is twice as good as workman as B and B is
twice as good as workman as C. If A and B
can together finish a piece of work in 4 days,
then C can do it by himself in ?

A dh dk;Z{kerk B dh nksxquh gS rFkk B dh dk;Z{kerk C
dh nksxquh gSA ;fn A rFkk B fdlh dke dks 4 fnuksa esa [kRe
dj ldrs gSa rks C mlh dke dks fdrus fnuksa esa lekIr
djsxk?
(a) 6 days (b) 8 days
(c) 24 days (d) 12 days

101. If 1 man or 2 women or 3 boys can complete
a piece of work in 88 days, then 1 man, 1
woman and 1 boy together will complete it
in ?

;fn 1 iq:"k ;k 2 fL=k;k¡ ;k 3 yM+ds fdlh dke dks 88 fnuksa
esa dj ldrs gSa] rks ,d iq:"k] ,d L=kh rFkk ,d yM+dk
feydj dke dks fdrus fnuksa esa [kRe djsaxs \
(a) 36 days (b) 42 days
(c) 48 days (d) 54 days

102. Tapas works twice as fast as Mihir. If both
of them together complete a work in 12 days,
Tapas alone can complete it in ?

ril] fefgj dh rqyuk esa nksxquh rsth ls dke djrk gSA ;fn
nksuksa feydj fdlh dke dks 12 fnuksa esa lekIr djrs gSa] rks
ril vdsys dke dks fdrus le; esa [kRe djsxk \
(a) 15 days (b) 18 days
(c) 20 days (d) 24 days

103. 2 men and 3 women together or 4 men can
complete a piece of work in 20 days. 3 men
and 3 women will complete the same work
in ?

2 iq:"k rFkk 3 fL=k;k¡ feydj ;k 4 iq:"k fdlh dke dks 20

fnuksa esa lekIr dj ldrs gSaA rks mlh dke dks 3 iq:"k rFkk
3 fL=k;k¡ fdrus fnuksa esa [kRe djsaxs \
(a) 12 days (b) 16 days
(c) 18 days (d) 19 days

104. 20 men or 24 women can complete a piece
of work in 20 days. If 30 men and 12 women

under take to complete the work, the work
will be completed in ?

20 iq:"k ;k 24 efgyk,¡ fdlh dke dks 20 fnuksa esa lekIr
dj ldrs gSa] rks 30 iq:"k rFkk 12 fL=k;k¡ dke djsa] rks dke
fdrus fnuksa esa lekIr djsaxs \
(a) 10 days (b) 12 days
(c) 15 days (d) 16 days

105. Twenty women together can complete a piece
of work in 16 days, 16 men together can
complete the same work in 15 days. The ratio
of the working capacity of a man to that of a
women is ?

20 fL=k;k¡ feydj fdlh dke dks 16 fnuksa esa [kRe dj
ldrh gS rFkk 16 iq:"k feydj mlh dke dks 15 fnuksa esa
[kRe dj ldrs gSa] rks iq:"kksa rFkk fL=k;ksa dh dk;Z{kerk dk
vuqikr Kkr djsa \
(a) 3 : 4 (b) 4 : 3
(c) 5 : 3 (d) 4 : 5

106. 6 men and 8 women can do a piece of work
in 10 days. Then 3 men and 4 women can
do the same work in ?

6 iq:"k rFkk 8 fL=k;k¡ fdlh dke dks 10 fnuksa esa dj ldrs
gSa] tcfd 3 iq:"k rFkk 4 efgyk,¡ mlh dke dks fdrus fnuksa
esa lekIr djsaxs \
(a) 24 days (b) 20 days
(c) 12 days (d) 18 days

107. 2 men and 3 women can do a piece of work
in 10 days while 3 men and 2 women can do
the same work in 8 days. Then, 2 men and 1
woman can do the same work in ?

2 iq:"k rFkk 3 fL=k;k¡ fdlh dke dks 10 fnuksa esa dj ldrs
gSa] tcfd 3 iq:"k vkSj 2 fL=k;k¡ mlh dke dks 8 fnuksa esa dj
ldrh gSa] rks 2 iq:"k vkSj 1 L=kh dke dks fdrus fnuksa esa
djsxh \

(a) 12 days (b) 12
1

2
 days

(c) 13 days (d) 13
1

2
 days

108. A is twice as good as workman as B and
together they finish a piece of work in 14
days. The number of days taken by A alone
to finish the work is ?

A dh dk;Z{kerk B ls nksxquh gS vkSj nksuksa feydj fdlh dke
dks 14 fnuksa esa lekIr djrs gSaA rks A vdsys dke dks fdrus
fnuksa esa lekIr djsxk \
(a) 11 days (b) 21 days
(c) 28 days (d) 42 days

109. 5 men and 2 women working together can
do four times as uch work per hour as a man
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and a woman together. The work done by a
man and a woman should be in the ratio ?

5 iq:"k rFkk 2 efgyk,¡ feydj 1 iq:"k rFkk 1 L=kh ds izfr

?kaVs dke ds pkj xquk dke dj ldrs gSaA rks ,d iq:"k rFkk

,d L=kh ds dke dk vuqikr D;k gksxk \
(a) 1 : 2 (b) 2 : 1
(c) 1 : 3 (d) 4 : 1

110. Either 8 men or 17 women can paint a house
in 33 days. The number of days required to
paint three such houses by 12 men and 24
women working at the same rate is  ?

8 iq:"k ;k 17 efgyk,¡ fdlh ?kj dks 33 fnuksa esa jax ldrh

gSa rks 12 iq:"k rFkk 24 efgyk,¡ bl rjg ds rhu ?kjksa dks

fdrus fnuksa esa jaxsxsa \
(a) 44 days (b) 43 days
(c) 34 days (d) 66 days

111. A man and a woman working together can
do a certain work in 18 days. Their skills in
doing the work are in the ratio 3 : 2. How
many days will the woman take to finish the
work alone ?

,d iq:"k vkSj ,d L=kh ,d lkFk feydj fdlh dke dks 18

fnuksa esa dj ldrs gSaA mudh dk;Z{kerk 3 : 2 ds vuqikr esa

gSA L=kh vdsyh ml dke dks fdrus fnuksa esa [kRe djsxh \
(a) 45 days (b) 36 days
(c) 27 days (d) 30 days

112. 3 men and 4 boys can complete a piece of
work in 12 days. 4 men and 3 boys can do
the same work in 10 days. Then 2 men and
3 boys can finish the work in ?

3 iq:"k rFkk 4 yM+ds fdlh dke dks 12 fnuksa esa dj ldrs

gSa vkSj 4 iq:"k rFkk 3 yM+ds mlh dke dks 10 fnuksa esa dj

ldrs gSa] rks 2 iq:"k rFkk 3 yM+ds fdrus fnuksa esa dke

lekIr dj ldrs gSa \

(a) 17
1

2
 days (b) 5

5

11
 days

(c) 8 days (d) 22 days
113. If 8 men or 12 boys can do a piece of work in

16 days, the number of days required to
complete the work by 20 men and 6 boys is ?

;fn 8 iq:"k ;k 12 yM+ds fdlh dke dks 16 fnuksa esa iwjk

dj ldrs gSa] rks 20 iq:"k rFkk 6 yM+ds fdrus fnuksa esa dke

iwjk djsaxs \

(a) 5
1

3
 days (b) 6

1

3
 days

(c) 8
1

3
 days (d) 7

1

3
 days

114. If 10 men or 20 women or 40 children can do
a piece of work in 7 months, then 5 men, 5
women and 5 children together can do half
of the work in ?

;fn 10 iq:"k ;k 20 efgyk,¡ ;k 40 cPps fdlh dke dks

7 eghus esa dj ldrs gSa rks 5 iq:"k] 5 efgyk,¡ rFkk 5 cPps

feydj vk/s dke dks fdrus le; esa iwjk djsaxs \
(a) 6 months (b) 4 months
(c) 5 months (d) 8 months

115. 2 men and 3 boys can do a piece of work in
10 days while 3 men and 2 boys can do the
same work in 8 days. In how many days can
do 2 men and 1 boy the work ?

2 iq:"k rFkk 3 yM+ds fdlh dke dks 10 fnuksa esa tcfd 3

iq:"k rFkk 2 yM+ds mlh dke dks 8 fnuksa esa dj ldrs gSa]

rks 2 iq:"k rFkk 1 yM+dk fdrus fnuksa esa dke lekIr djsaxs ?
(a) 8 days (b) 7 days

(c) 12
1

2
 days (d) 2 days

116. A man a woman and a boy together can
finish a piece of work in 6 days. If a man
and a woman can do the work in 10 and 24
days respectively. The days taken by a boy
to finish the work is ?

2 iq:"k] 1 L=kh rFkk 1 yM+dk feydj fdlhdke dks 6 fnuksa

esa iwjk dj ldrs gSA ;fn 1 iq:"k rFkk 1 L=kh dke dks Øe'k%

10 fnuksa rFkk 24 fnuksa esa lekIr dj ldrs gS] rks yM+dk

fdrus fnuksa esa dke lekIr djsxk ?
(a) 30 days (b) 35 days
(c) 40 days (d) 45 days

117. If 40 men or 60 women or 80 children can do
a piece of work in 6 months, then 10 men,
10 women and 10 children together do half
of the work in ?

;fn 40 iq:"k ;k 60 efgyk,¡ ;k 80 cPps fdlh dke dks

6 eghus esa lekIr dj ldrs gSa rks 10 iq:"k] 10 efgyk,¡

rFkk 10 cPps feydj vk/s dke dks fdrus fnuksa esa lekIr

djsaxs ?

(a) 5
6

13
 months (b) 6 months

(c) 5
7

13
 months (d) 11

1

13
 months

118. Two workers A and B working together
completed a job in 5 days. If A had worked
twice as efficiency as he actually did, the
work would have been completed in 3 days.
To complete the job alone, A would require ?



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 209 ]

THATHAGAT

IN
STITUTE

nks etnwj A rFkk B 5 fnuksa esa ,d dke lekIr dj ldrs
gSaA ;fn A nksxq.kh rsth ls dke djrk gS rks dke 3 fnuksa esa
iwjk gks tk,xk] rks A vdsyk dke dks fdrus le; esa iwjk
djsxk ?

(a) 5
1

5
 days (b) 6

1

4
 days

(c) 7
1

2
 days (d) 8

3

4
 days

119. One man, 3 women and 4 boys can do a piece
of work in 96 hours, 2 men and 8 boys can
do it in 80 hours, 2 men and 3 women can
do it in 120 hours, 5 men and 12 boys can
do it in ?

1 iq:"k] 3 efgyk,¡ rFkk 4 cPps fdlh dke dks 96 ?kaVs esa
iwjk dj ldrs gSa] 2 iq:"k vkSj 8 yM+ds mlh dke dks 80

?kaVs esa iwjk dj ldrs gSa rFkk 2 iq:"k rFkk 3 efgyk,¡ dke
dks 120 ?kaVs esa iwjk dj ldrs gSa] rks 5 iq:"k rFkk 12 yM+ds
fdrus ?kaVs esa dke iwjk djsaxs ?

(a) 39
1

11
 hours (b) 42

7

11
 hours

(c) 43
7

11
 hours (d) 44 hours

120. 3 men and 7 women can do a job in 5 days,
while 4 men and 6 women can do it in 4 days.
The number of days required for a group of
10 women working together, at the same rate
as before, to finish the same job is ?

3 iq:"k rFkk 7 efgyk,¡ ,d dke dks 5 fnuksa esa dj ldrs
gSa tcfd 4 iq:"k rFkk 6 efgyk,¡ mlh dke dks 4 fnuksa esa
dj ldrs gSaA rks 10 efgykvksa dk lewg feydj fdrus fnuksa
esa dke lekIr djsxk ?
(a) 30 days (b) 36 days
(c) 40 days (d) 20 days

121. If 12 men or 24 boys can do a work in 66
days, the number of days in which 15 men
and 6 boys can do it is ?

;fn 12 iq:"k ;k 24 yM+ds fdlh dke dks 66 fnuksa esa dj
ldrs gSa] rks 15 iq:"k rFkk 6 yM+ds fdrus fnuksa esa dke iwjk
djsaxs ?
(a) 44 days (b) 33 days
(c) 55 days (d) 66 days

122. One man or two women or three boys can do
a piece of work in 88 days, one man, one
woman and one boy will do it in ?

,d iq:"k ;k 2 efgyk ;k 3 cPps fdlh dke dks 88 fnuksa
esa dj ldrs gSA rks 1 iq:"k] 1 efgyk rFkk 1 cPpk dke dks
fdrus fnuksa esa djsxk ?

(a) 44 days (b) 24 days
(c) 48 days (d) 20 days

123. 4 men and 6 women complete a work in 8
days, 2 men and 9 women also complete in
8 days. The number of days in which 18
women complete the work is ?

4 iq:"k rFkk 6 efgyk,¡ fdlh dke dks 8 fnuksa esa lekIr
djrs gS vkSj 2 iq:"k rFkk 9 efgyk,¡ Hkh dke dks 8 fnuksa esa
lekIr djrs gSa rks 18 efgyk,¡ dke dks fdrus fnuksa esa
lekIr djsaxh ?

(a) 5
1

3
 days (b) 5

2

3
 days

(c) 4
1

3
 days (d) 4

2

3
 days

124. If 4 men or 8 women can do a piece of work
in 15 days, in how many days can 6 men
and 12 women do the same piece of work ?

;fn 4 iq:"k ;k 8 efgyk,¡ fdlh dke dks 15 fnuksa esa lekIr
dj ldrs gSa] rks 6 iq:"k rFkk 12 efgyk,¡ mlh dke dks
fdrus fnuksa esa lekIr djsaxs ?
(a) 5 days (b) 10 days
(c) 45 days (d) 15 days

125. 15 men can finish a piece of work in 20 days,
however it takes 24 women to finish it in 20
days. If 10 men and 8 women undertake to
complete the work, then they will take ?

,d dk;Z dks 15 iq:"k 20 fnuksa esa iwjk dj ldrs gSa] tcfd
mlh dke dks 24 efgyk,¡ 20 fnuksa esa iwjk djrh gSA 10

iq:"k vkSj 8 efgyk,¡ ml dk;Z dks fdrus fnuksa esa iwjk djsaxs?
(a) 20 days (b) 30 days
(c) 10 days (d) 15 days

126. 3 men or 5 women can do a work in 12 days.
How long will 6 men and 5 women take to
finish the work ?

3 iq:"k ;k 5 efgyk,¡ fdlh dke dks 12 fnuksa esa lekIr dj
ldrs gSA rks 6 iq:"k rFkk 5 efgyk,¡ dke dks fdrus fnuksa
esa lekIr djsaxs ?
(a) 20 days (b) 10 days
(c) 4 days (d) 15 days

127. A particular job can be completed by a team
of 10 men in 12 days. The same job can be
completed by a team of 10 women in 6 days.
How many days are needed to complete the
job if two teams work together ?

10 yksxksa dh ,d Vhe ,d dk;Z dks 12 fnuksa esa dj ldrh
gSA mlh dke dks 10 efgykvksa dh Vhe 6 fnuksa esa dj ldrh
gSA ;fn nksuksa Vhesa ,d lkFk dke djrh gS] rks fdrus fnuksa esa
dke [kRe gksxk ?
(a) 4 days (b) 6 days
(c) 9 days (d) 18 days
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128. A certain number of men can complete a job
in 30 days. If there were 5 men more, it could
be completed in 10 days less. How many men
were in the beginning ?

dqN iq:"k ,d dke dks 30 fnuksa esa [kRe dj ldrs gSaA ;fn
5 iq:"k vkSj vk tk,¡ rks dke 10 fnu igys [kRe gks tkrk
gSA vkjaHk esa fdrus iq:"k Fks ?
(a) 10 (b) 15
(c) 20 (d) 25

129. A contractor undertakes to make a road in
40 days and employees 25 men. After 24
days, he finds that only one-third of the road
is made. How many extra men should he
employ so that he is able to complete the
work 4 days earlier ?

,d Bsdsnkj us 40 fnu esa lM+d cukus dk Bsdk fy;k vkSj
bl dk;Z ds fy, mlus 25 iq:"kksa dks dke ij yxk;kA 24

fnu ds i'pkr mlus ik;k fd dsoy ,d frgkbZ Hkkx lM+d
cu ik;k gSA rks 4 fnu igys dke [kRe djus ds fy, fdrus
iq:"k dke ij yxkus gksaxs ?
(a) 100 (b) 60
(c) 75 (d) None of these

130. A does half as much work as B in one sixth
of the time. If together they take 10 days to
complete a work, how much time shall B take
to do it alone ?

B ds 
1

6
 le; esa A, B dh rqyuk esa vk/k dke djrk gSA

;fn os nksuksa feydj 10 fnuksa esa dke [kRe dj ldrs gSa rks
B vdsyk ml dke dks fdrus fnu esa [kRe djsxk ?
(a)  70 days (b) 30 days
(c) 40 days (d) 50 days

131. Kamal can do a piece of work in 15 days.
Bimal is 50 percent more efficient than
Kamal in doing the work. In how many days
will Bimal do that work ?

dey ,d dke dks 15 fnuksa esa dj ldrk gSA fcey dh
dk;Z{kerk dey ls 50% vf/d gS] rks fcey fdrus fnuksa
esa dke [kRe djsxk ?

(a)  14 days (b) 12 days

(c) 10 days (d) 10
1

2
 days

132. 8 men can do a work in 12 days. After 6 days
of work, 4 more men were engaged to finish
the work. In how many days would the
remaining work be completed ?

8 iq:"k ,d dke dks 12 fnuksa esa dj ldrs gSaA 6 fnu dke
ds i'pkr~ 4 vkSj iq:"k dke ij yxk, tkrs gSa] rks 'ks"k dke
fdrus fnuksa esa [kRe gksxk ?

(a) 2 days (b) 3 days
(c) 4 days (d) 5 days

133. A certain number of persons can complete a
piece of work in 55 days. If there were 6
persons more, the work could be finished in
11 days less. How many persons were
originally there ?

dqN O;fDr ,d dke dks 55 fnuksa esa [kRe djrs gSaA ;fn 6
O;fDr vkSj vk tk,¡ rks dke 11 fnu igys [kRe gks tkrk
gS] rks vkjEHk esa fdrus O;fDr Fks ?
(a) 17 (b) 24
(c) 30 (d) 22

134. 8 men working for 9 hours a day complete a
piece of work in 20 days. In how many days
can 7 men working for 10 hours a day
complete the same piece of work ?

8 iq:"k 9 ?kaVs izfrfnu dke djds ,d dke dks 20 fnuksa esa
[kRe djrs gSa] rks 7 iq:"k 10 ?kaVs izfrfnu dke djds fdrus
fnuksa esa dke [kRe djsaxs ?

(a) 24
4

7
 days (b) 20

3

7
 days

(c) 21
3

7
 days (d) 22

3

7
 days

135. 639 persons can repair a road in 12 days
working 5 hours a day. In how many days
will 30 persons working 6 hours a day
complete the work ?

639 O;fDr 5 ?kaVs izfrfnu dke djds 12 fnuksa esa ,d lM+d
dh ejEer djrs gSaA 30 O;fDr 6 ?kaVs izfrfnu dke djds
fdrus fnuksa esa dke [kRe djsaxs ?
(a) 210 days (b) 213 days
(c) 214 days (d) 215 days

136. If 72 men can build a wall of 280 metre length
in 21 days, how many men could take 18
days to build a similar type of wall of length
100 metre ?

;fn 72 iq:"k 280 ehVj yEch nhokj 21 fnuksa esa cukrs gSa]
rks 18 fnuksa esa 100 ehVj yEch nhokj cukus ds fy;s fdrus
iq:"kksa dh t:jr gksxh ?

(a) 30 (b) 10
(c) 18 (d) 28

137. If 6 persons working 8 hours a day earn Rs.
8400 per week, then 9 persons working 6
hours a day will earn per week ?

;fn 6 O;fDr 8 ?kaVs izfrfnu dke djds 8400 :i;s izfr
lIrkg dekrs gSa rks 9 O;fDr 6 ?kaVs izfrfnu dke djds izfr
lIrkg fdruk dek,¡xs ?
(a) Rs. 8400 (b) Rs. 16800
(c) Rs. 9450 (d) Rs. 16200
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138. 5 persons can prepare an admission list in
8 days working 7 hours a day. If 2 persos
join them so as to complete the work in 4
days, how many hours they need to work ?

5 O;fDr 7 ?kaVs izfrfnu dke djds ,d ukekadu lwph 8 fnuksa
esa rS;kj djrs gSA dke dks 4 fnuksa esa [kRe djus ds fy, 2
O;fDr vkSj vk tkrs gSa] rks mUgsa izfrfnu fdrus ?kaVs dke
djuk gksxk ?
(a) 10 hours (b) 9 hours
(c) 12 hours (d) 8 hours

139. 4 mat-weavers can weave 4 mats in 4 days.
At the same rate how many mats would be
woven by 8 mat-weavers in 8 days ?

4 pVkbZ cqudj 4 fnuksa esa 4 pVkbZ cqurs gSa] rks blh xfr ls
8 cqudj 8 fnuksa esa fdruh pVkbZ cqusaxs ?
(a) 4 (b) 8
(c) 12 (d) 16

140. 10 men working 6 hours a day can complete
a work in 18 days. How many hours a day
must 15 men work to complete the same
work in 12 days ?

10 iq:"k 6 ?kaVs izfrfnu dke djds fdlh dk;Z dks 18 fnuksa
esa [kRe djrs gSa rks mlh dke dks 12 fnuksa esa [kRe djus ds
fy, 15 iq:"kksa dks fdrus ?kaVs izfrfnu dke djuk iM+sxk ?
(a) 6 hrs/days (b) 10 hrs/days
(c) 12 hrs/days (d) 15 hrs/days

141. A certain number of men can do a work in
60 days. If there were eight more men, it
could be complete in 10 days less. How many
men were there in the beginning ?

dqN O;fDr fdlh dk;Z dks 60 fnuksa esa dj ldrs gSaA ;fn 8
O;fDr vkSj vk tk,¡ rks dk;Z 10 fnu igys [kRe gks ldrk
gS] rks vkjaHk esa fdrus O;fDr dk;Z dj jgs Fks ?
(a) 70 (b) 55
(c) 45 (d) 40

142. 12 persons can do a piece of work in 4 days.
How many persons are required to complete
8 times the work in half the time ?

12 O;fDr fdlh dk;Z dks 4 fnuksa esa dj ldrs gSa] rks 8 xq.kk
dk;Z vkèks le; esa fdrus O;fDr iwjk dj ldsaxs ?
(a) 192 (b) 190
(c) 180 (d) 144

143. A work could be completed in 100 days by
some workers. However, due to the absence
of 10 workers, it was completed in 110 days.
The original number of workers was ?

dqN etnwj fdlh dke dks 100 fnuksa esa [kRe dj ldrs Fks]
ysfdu 10 etnwjks dh vuqifLFkfr ds dkj.k dke 110 fnuksa
esa [kRe gqvk] rks etnwjksa dh vkjafHkd la[;k D;k Fkh ?
(a) 100 (b) 110
(c) 55 (d) 50

144. A job can be completed by 12 men in 12 days.
How many extra days will be needed to
complete the job if 6 men leave after working
for 6 days ?

12 yksx fdlh dke dks 12 fnuksa esa dj ldrs gSaA ;fn 6 yksx
6 fnu dke djds dke NksM+ ns] rks dke dks [kRe gksus esa
vfrfjDr fdrus fnu yxsaxs ?
(a) 3 days (b) 6 days
(c) 12 days (d) 24 days

145. Two persons can complete a piece of work in
9 days. How many more persons are needed
to complete twice the work in 12 days ?

2 O;fDr fdlh dk;Z dks 9 fnuksa esa lekIr dj ldrs gSaA nksxqus
dke dks 12 fnuksa esa lekIr djus ds fy, fdrus vfrfjDr
O;fDr;ksa dh t:jr gksxh ?

(a) 3 (b) 2
(c) 4 (d) 1

146. A contractor undertook to complete a project
in 90 days and employed 60 men on it. After

60 days, he found that 
3

4
 of the work has

already been completed. How many me can
he discharge so that the project may be
completed exactly on time ?

,d Bsdsnkj 90 fnuksa esa ,d izkstsDV dks lekIr djus dk Bsdk
ysrk gS vkSj blds fy, og 60 yksxksa dks dke ij yxkrk gSA

60 fnuksa ds i'pkr~ og ikrk gS fd 
3

4
 Hkkx dke gks x;k gS]

rks le; ij dke iwjk gks tk, blds fy, og fdrus yksxksa
dks dke ij ls gVk ldrk gS ?
(a) 40 (b) 20
(c) 30 (d) 15

147. 60 men could complete a piece of work in
250 days. They worked together for 200 days.
After that the work had to be stopped for 10
days due to bad weather. How many more
men should be engaged to complete the work
in time ?

60 yksx fdlh dke dks 250 fnuksa esa dj ldrs gSaA mUgksaus
200 fnuksa rd lkFk dke fd;k mlds ckn [kjkc ekSle ds
dkj.k dke 10 fnuksa rd jksd fn;k x;k rks le; ij dke
[kRe djus ds fy, fdrus vfrfjDr yksxksa dh t:jr gksxh?
(a) 10 (b) 15
(c) 18 (d) 20

148. If 28 men complete 
7

8
 of a piece of work in a

week, then the number of men, who must
be engaged to get the remaining work
completed in another week, is ?
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;fn 28 iq:"k 
7

8
 Hkkx dke dks ,d lIrkg esa [kRe djrs

gSa rks cps gq, dke dks ,d lIrkg esa [kRe djus ds fy,
fdrus vfrfjDr iq:"kksa dh t:jr gksxh ?
(a) 5 (b) 6
(c) 4 (d) 3

149. A 10 hectare field is reaped by 2 men, 3
women and 4 children together in 10 days.
If working capabilities of a man, a woman
and a child are the ratio 5 : 4 : 2, then a 16
hectare field will be reaped by 6 men, 4
women and 7 children in ?

2 iq:"k 3 efgyk,¡ rFkk 4 cPps feydj 10 gsDVs;j [ksr dks
10 fnuksa esa dkVrs gSaA ;fn iq:"k] efgyk rFkk cPpksa dh
dk;Z{kerk dk vuqikr 5 : 4 : 2 gS rks 16 gsDVs;j [ksr dks

6 iq:"k] 4 efgyk,¡ rFkk 7 cPps fdrus fnuksa esa dkVsaxs ?
(a) 5 days (b) 6 days
(c) 7 days (d) 8 days

150. If P men working P hours per day for P days
produce P units of work, then the units of
work produced by N men working N hours a
day for N days is ?

;fn P iq:"k P ?kaVs izfrfnu dke djds P fnuksa esa P ;wfuV
dke djrs gSA rks N iq:"k N ?kaVs izfrfnu dke djds N fnuksa
esa fdrus ;wfuV dke djsaxs ?

(a) 
2

2

P

N
(b) 

3

2

P

N

(c) 
2

2

N

P
(d) 

3

2

N

P

Answer Sheet

1. (b) 2. (d) 3. (a) 4. (c) 5. (c) 6. (c) 7. (a) 8. (c) 9. (a) 10. (c)

11. (c) 12. (c) 13. (d) 14. (b) 15. (b) 16. (b) 17. (c) 18. (d) 19. (d) 20. (a)

21. (c) 22. (a) 23. (c) 24. (a) 25. (b) 26. (b) 27. (c) 28. (c) 29. (c) 30. (a)

31. (b) 32. (b) 33. (c) 34. (c) 35. (a) 36. (c) 37. (c) 38. (a) 39. (a) 40. (c)

41. (a) 42. (d) 43. (c) 44. (d) 45. (a) 46. (a) 47. (d) 48. (b) 49. (d) 50. (b)

51. (c) 52. (c) 53. (c) 54. (b) 55. (a) 56. (a) 57. (c) 58. (c) 59. (d) 60. (d)

61. (d) 62. (c) 63. (d) 64. (b) 65. (b) 66. (d) 67. (a) 68. (c) 69. (a) 70. (d)

71. (d) 72. (c) 73. (c) 74. (a) 75. (d) 76. (a) 77. (d) 78. (c) 79. (a) 80. (b)

81. (b) 82. (b) 83. (a) 84. (b) 85. (b) 86. (c) 87. (d) 88. (d) 89. (b) 90. (b)

91. (a) 92. (c) 93. (d) 94. (c) 95. (d) 96. (a) 97. (c) 98. (a) 99. (b) 100. (c)

101. (c) 102. (b) 103. (b) 104. (a) 105. (b) 106. (b) 107. (b) 108. (b) 109. (b) 110. (c)

111. (a) 112. (a) 113. (a) 114. (d) 115. (c) 116. (c) 117. (d) 118. (c) 119. (c) 120. (d)

121. (a) 122. (c) 123. (a) 124. (a) 125. (a) 126. (c) 127. (a) 128. (a) 129. (c) 130. (c)

131. (c) 132. (c) 133. (b) 134. (a) 135. (b) 136. (a) 137. (c) 138. (a) 139. (d) 140. (a)

141. (d) 142. (a) 143. (b) 144. (b) 145. (d) 146. (b) 147. (b) 148. (c) 149. (d) 150. (d)


